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+ Use Netflow Vg/Vio p 77 # 5%
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collect connection delay application sum
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TN i A Amazon

# netflow. appl_latency_ms G a [0 % 49 # netflow. appl_latency_ms E S Mk 49

# netflow.client_nw_latency_ms @& @ [0 & 1 # netflow.client_nw_latency_ms & S [0 * 1

F netflow.in_bytes @9 0%« 1,311 # netflow.in_bytes G & M*E 3,293

# netflow. in_pkts Qo [ 12 # netflow.in_pkts G Q[0 *x 17

# netflow. input_snmp @ Q[0 * 50,727 #  netflow. input_snmp G q M*E 2,742

O netflow.ipvd_cidrzd_src_addr @ Q [0 # 140.112.125.0 0O netflow.ipwd_cidr2d_src_addr @& G [0 # 140.112.236.0
0O netflaow, ipwd_dst_addr @ Q[ & 54.251.46.31 O netflow. ipwd_dst_addr o [0 & 52.112.184.25
O petflow. i pvd_srec_addr @ 9 [0 % 140.112.125.80 B netflow. ipwd_src_addr @ Q[0 &« 140.112. 236,95
# netflow. 14_dst_port @ [0 % =0 # netflow. 14_dst_port E G [« 443

# netflow. 14_src_port @ 9 [0 & 25,105 # netflow. 14_sro_port @ Q[0 %« 35,842

t  netflow. 17_proto_name @ S [ % HTTP. Amazon T netflow. 17_proto_name & Q [ * S5L.Amazon

F  netflow.max_tt] @ Q[0 & 120 F  netflow.max_tt] C=ENE B i?ﬁ SSL
& netflow.min_tt] @ Q[0 % 120 # netflow.min_tt] E Q0 &« 58 E

# netflow, ooorder_in_pkts G 9 [0%* 0 # netflow.ooorder_in_pkts a0+ 1

# netflow.coorder_out_pkts @ Q% 0 # netflow.coorder_out_pkts S g [0 %«

F  netflow.output_snmp @ 9 [ & 1,655 ¥ netflow.output_snmp G Q0 * 1,773

# netflow. protoco] a0 * 6 F netflow. protacal oM % s

# netflow.retransmitted_in_pkts @& @ [0 & © # netflow.retransmitted_in_pkts @ @ ] #* ©

# netflow. retransmitted_out_pkts @ G [0 % 1 # netflow.retransmitted_out_pkts & S [0 * 1

# netflow. server_nw_latency_ms @9 M % 24 F netflow.server_nw_latency_ms 3 g [0 & 26
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a4 PTT

#F netflow.appl_latency_ms 89 d=*«1

# netflow.client_nw_1atency_ms a9 0% 1a

# netflow.in_bits L= = 31,440

# netflow.in_bytes &S M« 3,930

# netflow.in_pkts a9 0% 73

# netflow.input_snmp a9 [0 %« 7,609

O netflow.ipwd_cidr2d_dst_addr S [« 140.112.172.0
0 metflow. ipwd_dst_addr @ g [0 & 140.112.172.3
0O netflow.ipwd_sro_addre 39 [0 & 39.12.94, 29
# netflow. 14_dst_port 3 a0 x 23

# netflow.l4_src_port & o [« 51,6851

t netflow.17_proto_name & S [0 & Telnet

# netflow.max_tt] 39 [0 & 54

# netflow.min_tt] & 9 [0 & 54

# netflow.ocoorder_in_pkts o [0« o

# netflow.ooorder_out_pkts (==

# netflow.output_somp ® 9 [0 %« 0,721

# netflow.protocol 8 a =% s

t netflow.protocol. keyword L= = TCP

# netflow. retransmitted_in_pkts m ® 2

# netflow.retransmitted_out_pkts & Q[0 & 2

# netflow. server_nw_1atency_ms 8 ad*x1
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# netflow.app]_Tatency_ms &2 M %« 158
#F_netflow. client_nw 1atency ms G [T % O
# netflow.in_bits L= =] BFE
# netflow.in_bytes | e M%« 72
# netflow.in_pkts | Md%E 1
F netflow.input_snmp a9 M %« 50,727
O netflow.1pwd_cidr2d_src_addr @ S [ & 140.112.254.0
0O netflow.ipwd_dst_addre @ e M %« 199,7.91.13
0O netflow.ipwd_sro_addre 3 M & 140,112, 254,66
F netflow. 14_dst_port a9 0%« 53
# netflow. 14_src_port @ S [ &« 558,349
t netflow.17_proto_name @ 2 [0 %& DNs
F  netflow.may_tt] a a0 %0
F netflow.min_tt] a3 S 0% 0
# netflow.ooorder_in_pkts =N
£ netflow.ooorder_out_pkts a0 %« 0
# netflow.output_snmp e M %« 1,655
F netflow. protocol a9 M %« 17
t  netflow.protocol. keyword L= =] oF
# netflow.retransmitted_in_pkts @ & 1 & O
# netflow.retransmitted_out_pkts @ S 1 & O
F netflow. server_nw_1atency_ms a3 S 0% 0

 DNS %
| A=
# netflow. appl_latency_ms a0 %« 129
F_netflow, client mw latency ms (7] % 1
# netflow. in_bits == 2,698
# netflow. in_bytes ® a0 %« 337
# netflow.in_pkts B Q0% s
# netflow. 1nput_snmp o0« 2,738
O netflow. 1pwd_cidr2d_src_addr &S M & 140.112.254.0
0O netflow. ipwd_dst_addr @ G [0 & 192.33.14.30
0 petflow, ipwd_src_addr & Q[0 %« 140.112.254.65
# netflow. T4_dst_port F o [0« 53
# netflow. 14_src_port & S [0 & 45,191
t  netflow. 17_proto_names & Q[0 %« DNs
£  netflow.max_tt] Q[0 %* &0
# netflow.min_tt] E o [0 & el
# netflow.coorder_in_pkts ==
# netflow.coorder_out_pkts 3 e«
# netflow.output_snmp & Q[0 %« 53,665
# netflow. protocol H o 0x &
t  netflow. protocol. keyword == TCFP
# netflow. retransmitted_in_pkts @& G [0 & O
# netflow. retransmitted_out_pkts & G [0 & O
# netflow. server_mw_Tlatency_ms o[ & ed ._'I J
=
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Pie: Protocol Client_Latency

Pie: Protocol Client_Latency

ICMP [2.560)

UDP (26.44)
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+ 275 Application Latency

Pie: Protocol Appl_Latency
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@TCP
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TCP
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@ Other

netflow.protocol.keywo...
TCP

TCP

uop
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ICMP

GRE
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Count
15,422,280
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5,730,242
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356,621
103
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Pie: Protocol Appl_Latency

netflow.protocol.keywo...
TCP

TCP
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UDP

ICMP

GRE

IPuti

Count
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netflow.client_nw_laten...
1}
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a
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Wiew: Data ~

Download C5 ~
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UDP s Retrasmit & OutOfOrder

+ RetrasmitIn/Out * = o

Pie: Protocol Retrasmit_In

UDP [23.174)

Other (1.638)

TCP (76,830)

Pie: Protocol Retrasmit_ln

@TCP

@ LUDp

@0
Other

netflow.protecol.keywo.. Count

TCP 66,249,037
TCR 66,248,037
uop 19,978,044

Rows per page: 20

+ OutOfOrder In/Out ¥ 2 o

Pie: Protocol Outoforder_In

UDP [23.17%)

Other [1.774)

TCP (76.834)

Pie: Protocol QutOfQrder_In

@TCP

@LUDP

@0
Other

netflow.protocel keywe... Count

TCP 66,249,037
TCP 66,249,037
UDp 10,978,044

Rows per page: 20

13

netflow.retransimitted _i...
a

Other

netflow.coorder_in_pkts...
0

Other

Wiew: Data ~

Download C5Y ~

Count
64,803,086
1,445,442

19,078 044

YWiew: Data ~

Download CSV

Count
64,718,376
1,530,138

19,978 044
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